
I have card 1. 
 
Who has a 
percent that 
equals 1/2? 
 
 
I have 50% 
 
Who has a 
percent that 
equals 3/4? 
 
I have 75% 
 
Who has a 
percent that 
equals 1/3? 
 
I have 33% 
 
Who has a 
percent that 
equals 1/5? 
 
 
 

I have 20%. 
 
Who has a 
percent that 
equals 1/4? 
 
 
I have 25% 
 
Who has a 
percent that 
equals 3/5? 
 
I have 60% 
 
Who has a 
percent that 
equals 2/3? 
 
I have 67% 
 
Who has a 
percent that 
equals 2/5? 
 
 
 

I have 40%. 
 
Who has a 
percent that 
equals 3/10? 
 
 
I have 30% 
 
Who has a 
percent that 
equals 4/5? 
 
I have 80% 
 
Who has a 
percent that 
equals 7/10? 
 
I have 70%. 
 
This is the 
last card. 
 


